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Today’s Pattern |

| got stuck in traffic. Zo| 2t3o].
The traffic is bumper-to-bumper. Zlo| Bo] ats,
It’ll take about 20 minutes. 202 M 2o},

o Fdo] AYARE.. kARl A =R A4 A He BlE ot
o 7ivhe)= o7} Heldt,

Dialogue‘

Kathy  : Sorry, I'm late. I got stuck in traffic.

How long have you been waiting for?

Changmin : Oh, that’s OK. I just got here, too. Don’ tworry

Kathy  : The cars were backed up for miles. It was one of the worst traffic
jams I’ve ever seen.

Changmin : Traffic is horrible during rush hour, and the traffic is bumper-to-
bumper around this time. That’s why I always take the subway.

Kathy  : But aren’t the subways also crowded during the rush hours?

Changmin : It is, but it’s faster. It’s better than wasting your time on the road.
It’1l take about 20 minutes on the road, but it’ll take more than an
hour with traffic jam.

Kathy  : 1 guess you’re right.

Changmin : I can’t believe people who drive in the city. How can they do that
everyday?

Kathy  : And parking is so expensive.

Changmin : How much is parking in Manhattan?

Kathy  : Oh, it is from $14 to $30 an hour depending on the area you park.

Changmin : Wow, that’s a lot. No wonder there are so many cabs in New York.
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Expressions

| guess you’re right. Hl 20| 2= 21 20}

=2|H oz Mush= ZIT ollM= 50| 2 stx. IHE 11500 42| To| Sb= Z Zob) I wff Alchat
9| ool S2lot= EESE | guessS Ml ARSSIE =T, | thinkE ARSIV IE Eich Z2 ofo|= 4
think so, too, | agree with you.” = AFSEHCH.

No wonder there are so many cabs in New York.
20l of THA| BHA|7} B2X] Ofshf 24

AlEF (Sex and the city)2l Aol FHz|7} Lizfo[dsh= &M X S&sk= E80|=. No wonder-~.
~shz Zo| =& Yo| oflcl =2 ~7} ofsl7f Zick o o|o|Z2 Alg=El= ES0ITFR. No wonder CHAI
That's why~Z2 HFYAM ALSE 5= QEUICE

Translation

Kathy  : o)A m|Qlsl. Aol 2Hlo]. drht 7|tk of?

Changmin : HA&o}, U= W5 =2gle], A4 ul.

Kathy @ xF5e] 2 widout 2 53] A QA 7k &2 Foll 7P Hoke] weAls 5 shusiol.

Changmin : 2]A]o}]ell= ago] HH3EA|. o] ARE w= o] Bo] v, T v= 3 A8t
S Bl gyA.

F

Kathy : 3%k A8 % glajolelole B384 egol?
Changmin : 212}, 3[X|5 X|5}2 o] o] W27 oA AIZHE dulshs ARTR= Yo}, HE5-2 20
wolA Rk, wel dl gk AIRHE A Al A ot

Kathy  :d] Zo] 2= R 2t}

Changmin : AlHellA 25 E31 thl s AFEES olai7) o7t o DA mijd AT =]?
Kathy : 2= g2 vRaL ojof,

Changmin : Wa}gtoll A F3tgE dupy shy?

Kathy @ of U7} oftjel] Fapah=utel] maba] ARhg 145004 30E7H4] & 7ok
Changmin : ¢}, 8% 2 =olu]. 7w&o A7} 28 A B2 o]f7F A7
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Unit 05. Traffic - Preview

Pattern FOCUS
nE S& Fsish|

o Al ATl A RS whe] Zhd], o] W of: AR S =AU

20| 2SS ESIE

| got stuck in traffic. 2o| atzof.
© ol atzige EHsHs 7lExel EHRIUCE got stuck in O[2FT 512 0iEl7jofl EHglo] Folcf Bl o

o S 2 o] Akl o] BRIk 212 AAeIA LelF] S8 BRI o)A B Fick,
20| aaig ARz

The traffic is bumper-to-bumper. zoj ot

© bumpere PEILAAME HE2t 2= AASALe| EERIE 712172 L& bumper-to-bumpers &
Atel & Hujet HIAte] of HIHIF M2 SHoIUS B2 AP S2I0IX| 2 Zo| Us{U= HEHE 712 IZuct.

© The traffic is bumper-to-bumper now. X2 Zo| ats.
The traffic has been bumper-to-bumper for an hour. BHARZFEE 2o 2H32i0].
The traffic is bumper-to-bumper on the Ma-po bridge.  BlZCHwIt IS

o AdjellA] 2 AZe] glo dwiut A= A gnle: AR A At

0lS ARIS 2 E
It’ll take about 20 minutes. 202 HE 2270t
© SAttakes O 2= k= Hll Z2l= AlZ0| LofRIX| LIEHHE THRILICE traffic jam2 BE MBS %
=
© It'll take about 30 minutes to get there. Eake| 5t 30=AE A2 7ok,
It’ll take about 10 minutes to read this. O|Z ¢i=d & 1023 Z& Aok
It’LL take about five hours to finish my work. AUS Bzt of2iEof BARZE T 22 ok
048 spicus

Exercise

‘ 02| ofl&St PatternS 2+&ot0] ZH20f CHERSHAMIL.

1. oj ofzlofl= Zo| afsicfat.

(bumper, every morning)

2. 302 Hz Aot

(30 minutes)
3. Zo| 2rai BHE 47} 2
(got stuck)
! 1. The traffic is bumper-to-bumper every morning. 2. It will take about 30 minutes.

3. | got stuck in traffic.

Long Talk Preview

| UlolEl2E Long Talk ZH2of| OfE| CHESHEX| 2ok=Alch

1
What kind of public transportation do you use?

© | like taking the subway because it's short intervals. The train arrives on time all the
time. Whenever I'm in a hurry, taking the subway saves me time.

© LI B2 BiRE 28 ool X|skE Ehs 242 Sofeiuct ZXks ALt FAlof =ARfUCH Lot BEE whofct
Aol EtH AlZto] HeElLE)

==

2
What do you think about the traffic in your city?

© The traffic here is pretty heavy because there are a lot of cars running here. During
rush hour, the cars are bumper to bumper. So | prefer taking public transportation to
taking my car.

oI'

© o] nE2 gals A7} o HobM M
A= 28sks AECH S BsS 0l22 M Z

| SRR 2Alotjolks e EFtol Algfch a2iM L= U
ofgfct

of })I
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Unit 05. Traffic - Let’s Talk on the Phone

Let’s Talk on the Phone

@ | got stuck in traffic.

20| 23iof.

@ The traffic is bumper-to-bumper.

o] Bo| 2t

o 1€’1l take about 20 minutes.
205 M Zzi7o}.

Pronunciation | c.g cis wsot seieit ot s o st v,

Kathy  :Sorry, I’'m late. | got stuck in traffic. How long have you
been waiting for?

Changmin : That’OK. 1 just got here, too. Don’t worry.

82 -/s/ Floll /p. t. /2 LS

435t 2 [/ Foll 2 /p, t, k/7F (we,cc, M) Z2 2|2 UFEE H22M, stuckolM2] /t/ L20]
T ofldUct /s/o EE2 AMT R 7187| sHEA [t/ olstoll ZAIE Ut
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Small Talk 0j2] o5t Pattern B23101 TS0l CHEBHIL
[ Situation @)

You arrived 40 minutes late at the appointment because of traffic jam. Apologize
to him.

s AE ol A2 2450l 402 =UFLIEE Altkel 2AM|R.

@ﬁ ) a
~ I’'m sorry. | in

You go to work by bus and you can get there in 20 minutes after you leave home.
Tell us about this in another expressions.

SR HAS Bl S22 stl, TS L2 X| 202 Flol| 2Fol| =ARCE o[4S tfE 3oz SoiEAMR.

®: 1 a bus when | go to work and it’ll 20 minutes
to get there.

B 3)

You’re on a highway and the cars are not moving. Call your friend and tell him
that there is heavy traffic.

= 20f| J=H AS0| SAI0|X| £ JUFHC FFHolAH| MEHE 20| E &S0 Alstot ZeiEAMR.
<®X The traffic is -to-

Long Talk Che M2o| uf2t MALT XIRZS CHEHE LiF0f BAS.

1. What kind of public transportation do you use?

2. What do you think about the traffic in your city?
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Unit 05. Traffic - Review for Today

Review for Today

Short ertmg o5 v B8I2 BR5/0] 12 22 Ftef BAICE

=

Lt HE HAZ EtT Ust 7t
7lo| ats|X| okomy 308 M ZaICtH
Q5 ORXJol| Li= S| YUOILEA OLZE XtE EfQIZFQICY,
OfLl= HE XIE Etx QUs}2| 7tct,
ZEIZ AlZIolls IS HIZO| AlstLt,
T usually
(=1]

I:IO}

H

| usually go to work by bus.
It takes about 30 minutes without the traffic jam.

This morning, | woke up late, so my wife gave me a ride.

She usually goes to work by car.
The traffic is bumper-to-bumper around the rush hour.

Note.
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